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General Instructions :

1.

X
3. All questions of Section-A and all questions of Section-B are to be attempted separately.
4.
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The question paper comprises of two Sections, A and B. You are to attempt both the
sections.
All questions are compulsory

Question numbers 1 to 3 in Section-A are one mark questions. These are to be answered in
one word or in one sentence

Question numbers 4 to 6 in Sections-A are two marks questions. These are to be answered
in about 30 words each.

Question numbers 7 to 18 in Section-A are three marks questions. These are to be
answered in about 50 words each

Question numbers 19 to 24 in Section-A are five marks questions. These are to be
answered in about 70 words each. k

Question numbers 25 to 33 in Section-B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to select one most appropriate
response out of the four provided to you.

Question numbers 34 to 36 in Section-B are questions based on practical skills. Each
question is of two marks,



HIT-3H / SECTION-A

1 forl < aferem st % M forfay fomd e fireett ot 21 1
* Name any two cell organelles having double membrane envelope. .
2 ¢ fiiz BFT R & gO&R 79 W iria &1 39 fie & sm ofeemm gof &0 W e faemm 1
% e B 2
A body is moving along a circular path of radius R. What is the displacement of the body
when it completes half a revolution ? '
3 wamie ¥ el 1 ogell & weg ST oe 1 4 wed © 7 1
What do we call the force of attraction between any two objects in the universe?
O s Pt framil 7 38 gu 20 ‘ 2
@ = 3@ QWP au e (b) @ TAT ER =t Sew
) T4 R g (d) w= FEA q I
How can you separate the following mixtures ?
(@)  petrol and diesel from crude oil
(b)  sand and iron filings
(c) - drugs from blood
(d)  Raw rice and dal
5 sifeer qor smfte # fasies =ifeg ‘ 2

Differentiate between bone and cartilage.
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State reason for the following :

() When a bus starts suddenly, the passengers in a bus tend to fall backward.

(i) A grooveis provided in a saucer for placing the tea cup.

7 S T ¥ I e w1 e o ) S gee O w awds o T gl 3
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You are provided with a mixture of mustard oil and water. Name the technique to separate it
and write the principle involved. Draw diagram of the technique used.
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l Compare the following in three states of matter.
¥,

{ () . Particle motion — £

(b)  Force of attraction between particles - B

(c) Space between particles - 7

9 (@) T R e o s A I 87 W i 3
(b) 2 e wal F Frwor A o afern 4 Bl §2
(@)  Why the rate of diffusion becomes faster on heating ? Explain.

(b) Why is the rate of diffusion of liquids higher than that of solids ? Explain.
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Name the two cell organelles that contain their own DNA and ribosomes. What is the site of

] respiration to fulfill energy demands within the cell? In which form energy is stored in a cell?
11 A Ry e st F vl ¥ Q-9 wew fafeg 3
2

(a) 9% FaH S TAN YR B 91 BT HEROT Fal ¥ |
(b) % Ha® S TR IR H IS WH AT & A= HE FA T
(c) 9% Fa® Sl . qMferTal & JOR T8 9= @l FrabE w5 g

Give two features of each of the following tissues :

1 . (@)  Tissue that stores fat in our body.
* #;5‘ Tissue that receives and transmits impulse in our body.
O =@  Tissue that controls contraction and relaxation of blood vessels.
12 3 kg EHNH I UH 95 4§ 30 g 1 Tl SR Sl §1 el s 1 Aol § freem A 0003 seA ¥ 3

3TR 100 m/s T 3T T T Xl 81 Tiehe Hifa : '
() =g % ufasTm 3
(ii) m%ﬁﬁw%wmuﬁmmw
A gun of mass 3 kg fires a bullet of mass 30 g. The bullet takes 0.003 s to move through the barrel of
the gun and acquires a velocity of 100 m/s. Calculate :
(i) The \;-elocity with which the gun recoils 5

N (ii) The force exerted on gunman due to recoil of the gun. £

5
& 13 forelt saferm o1 WK 49 600 N &1 Tareq WX #7971 SUHT UK THYHM W2 91 SqH WEH
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A man’s weight when taken at the poles is 600N. Will his weight remain the same when measured at
the equator ? Will there be an increase or decrease is his weight ? Explain.

14 <R we-feufa e e wiol § qefh 81 o e e ft wwee § ot S e W . 3
@91 b 9RY) 79 =fid F = 1 afwen Ff )

T (s) | fRerfi (m)
0 0

0.5 125

1 —(a)-
1.5 37.5

2 50

—(b)- | 625

Position-time information for a cheetah is shown in the data table below. Assume that the
motion is uniform, fill a, b in the blanks of the table and then calculate the speed of cheetah.

Time (s) | Position (m)
0 0

0.5 125 ;

1 ~(a)-

1.5 . 7

2 50

—b)- | 625

15 4 kg SFM Ht TH TR H 20 m F. FE ¥ Frrn wmw quﬂnamaﬁﬁmm 3
T | Gd | A FICU (g =10 m/s2)

A body of mass 4 kg is dropped from a height of 20 m. Calculate the initial momentum and the
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momentum just before it strikes the ground.
(8=10 m/s?)

16 TermTereen | WS 815 U WHeX 10 s H 36 km/h H1 AT WK R AT R S WAk s s @ 3
3R 38 A § 20 s e | R @0 3R T @ UES 79 &1 T g 9 wifeg )

‘ Starting from rest a scooter acquires a velocity of 36 km/h in 10 s and then brakes are applied it takes
20 s to stop. Calculate acceleration and distance travelled.

* b 9 % faan AyFaE TeE F Wy G ot FE 91 wE F gEE W IN gefee wyEsE et 3
e Ay =1 3R 50 |/ 200 kg Wit a9 €1 W1 IREA = @rl @ ff 38 9 F forg Wfa
fapan #ifer S foeR & @@l & SUE wyHaE TeE % 39gE o)
() WY IR ¥F o svgea wyweeEt # & Uew o fafad
(i) cHEEIgS dR W AY IR & AU w@m w5 SR el s2fhan ayEseEt 1 aut W
fafea |

(i) T % gRI T 7Y e A

6 Karan's father was practicing apiculture with farming on the advice of Karan, he introduced
the [talian bee which yielded an average of 50 to
200 kg of honey per year. He encouraged others to adopt the same as he believed. The
pasturage there was suitable for bee keeping.

() State two desirable traits of bee varieties suitable for honey production.

(i)  Give the scientific name of the Italian bee commonly used for commercial honey
production. '

(iii) =~ State two values shown by Karan.

18 et arema ¥ fuflya woc gads § a1 & 9ag @ W9 94 aiell, 9o & 1Y 89 ¥ 991 5 &1 aell 3
/4 e =@ aret wefadl F 21-3) 3 fafan

& Write two examples each of the fishes that are: (a) Top feeders (b) Middle feeders and (c)
Bottom feeders, in composite fish culture in a pond.
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Differentiate between physical and chemical change in three points. Classify the followmg as
physical or chemical change -

(a) Water freezes to form ice, - C
(b) Sugér is dissolved in water —
(c) Burning of paper.

(d)  Rusting of iron.

20 e w e fafee B S wenell ¥ saen dif S seEfwfe @ #) ARk s S s
waw,mmﬁmmﬁmmﬁmﬁwﬁmw%,ﬂms%ﬁmwgw
w7 9T R Y SweRell 1 T e i wifen |
Define sublimation. Name two substances that sublime. If you are given a mixture of two

white salts, sodium chloride and ammonium chloride, how would you separate them? Draw
labelled diagram of the set up of the apparatus used.

21 ¥ TR R D Wt e onf, SR aw W % e § uE wAm o ) I w5
FHA Bt 2 mamﬁtﬁﬁmﬁﬁfwmﬁ%wﬁ@mwﬁhaﬁmlr

Do all cells of our body look alike in terms of shape, size and structure? What similarities do
they have? Illustrate by drawing diagrams of various cells present in human body.

22 A EE A THB H N F - W TR w_i 5
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Distance-time graph below represents the motion of two buses A and B :

(@)
(b)
(©
(d)
()
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" Time (h) —
Initially distance by what bus B s ahead of bus A ?
Do they ever meet each other ? If so when.
Distance travelled by bus A when it overtakes bus B.
Distance by which bus A at t = 12 |, _
Which one of them is moving faster ? Give reason,
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(@)  Give one similarity and one dissimilarity between the two graphs.
y Ly
4 2
i B o
= | 7 | B
S S
E t g /
z | 2 A
g | g
EA Sy Bt > X
time (5) —- time (s) —

(b) ~ What do you understand by the term acceleration ? What is meant by its being
positive or negative ? Explain with example. Write its SI units ?

24 IS T B FI R ® gur & fau siavasd o1 a9 udifrared & R d 9§ aofw Fifsey 5

Describe briefly about the traits and their utilities important for improvement of varieties of a

(_M' crop.

WTT-&/ SECTION - B
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Sarita took the sample of arhar dal to laboratory from her house. She wants to test for the
presence of adulteration in it. She got confused in choosing reagent. Please help her to choose
the same from the following

(a) Iodine solution (b) methylene Blue

(c) Safranin (d) conc. hydrochloric acid

26 o % el o F s faor e R R s T s & el sEm d e s, 9' 1

g
(@) RN (b)y ®WHE
(© ¥R | (d) =

In a sample of food iodine solution is used to detect the presence of :
(a) Proteins (b) Starch

(© Sugar (d)  Fats

27 e wl PieF 99 Gow USel & g ®1 vaa wre W HemE SR ad 369E SW TE e 1
R #) g W TR 9 FE

(@) WEH (b) TR FH T
(c) IO WEHES (d) e aur wewt % fago

A mixture containing iron filings and sulphur powder is spread on the white paper and a
magnet is rolled in it. The particles which cling to the magnet are :

(a) Sulphur (b) Iron particles

(c) Iron sulphide (d)  Mixture of iron and sulphur
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(d) W fEu g wsht
When carbon disulphide is added to a mixture of iron filings and sulphur powder :
(@)  Sulphur first dissolves and then reappears in its solid state.
(b)  TIron filings settle down.

(c) Clear yellow solution is obtained.
(d)  All of the above.

29 5 U wEAet # fog Ty wifea weke faerm § dftaw airee faea e T, gin ahe e 1

T §S1 | 98 AR R '
(a)  wifean wethe =1 (b) & wREE =
(c) wifeam FREs = (d) o wethe w1

When sodium sulphate solution is taken in a test tube and barium chloride solution is added
toit. A white precepitate is formed instaneously. This precipitate is of :

(@)  sodium sulphate (b)  barium chloride

(c) sodium chloride (d)  barium sulphate

30 oS @ faeeh W RifEEl ¥ sl s w5t fafy & o feras T Y oot sy & 1
femm | srefus 3 < = gvifud frm e &

(@) U WIF WIS A W W iowwi" # & d9e eife

(b) TS % W UM A T vewd o o 39 Ifew & v # e
© =1 e Tferg )

(d) 7 T e BT weRt SR

For making a temporary mount of an onion peel cells, Seema wrote down the steps and
showed it to her teacher. The step that her teacher corrected was :

(a) Take.a clean slide and put a drop of glycerine on it

(b)  Take ascaly part of the onion from the convex side of the onion and place it in water in
a petridish

(c) Add a drop of safranin
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‘ (b)  Iron filings settle down,
1 () Clear yellow solution is obtained.
: (d)  All of the above,

29 mwmﬁmmmmmﬁwmmmm maﬁmam}q 1

| AT BT | 9% raay &
| (@) W gethe =y (b) S wiREe
©  diferm seinEs = (d) T g w5

to it. A white Precepitate is formed instaneously. This Precipitate is of :
(@  sodium sulphate (b)  barium chloride
(c) sodium chloride (d)  barium sulphate

30 wﬁ%ﬁﬁ@ﬁmﬁ%mﬂmﬁﬁm%mh@mm%mwa 1
feamy | SHEAMTHT 3 S 1 weifire Foray e &

(a) @wmémwmﬁawﬂq;ﬁwigmn
(b) w%wwﬁwmuﬁmaﬁﬁﬁm%wﬁmr
() #T = o wifern

(b)  Takea scaly part of the onion from the convex side of the onion and place it in water jn
a petridish

() Adda drop of safranin
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‘ (d)  Mount the specimen and cover it with a cover slip

31 vl R A SRR R T R A M F e w e R R e k- 1
@ e \ b) fowft
(¢ wwI= (d) RfaEa
When stained appropriately, the muscle which shows alternate light and dark bands is :
(@)  striated (b)  smooth
‘ () Cardiac (d)  unstriated
32 e fq e F | ST F 9BRAT S w0 R gaw e W asm dE 1
‘ (a) T SEEURH B S S HI T FEETAA 7 2 9Tl 39 |
(b) fafy= sagai=t amet < Sl = T qE A
(€) & gERIE &S B TH qE N |
(d) e T B T S A T g A
Out of the following the process of sublimation is used to separate :
(a) A sublime solid from non-sublime solids.
( (b) Two solids having different melting point.
(c) Two miscible liquids.
(d) Two non-sublime solids
33 forelt 172% % W AU 3 W TR 3 ¥ for ovevew w9 § gey Wit @ F W w e Y 1
W ¥R % T2 i TIfd 2 % g e Ty stevash S AT devE S Tee W/2 YR 99
R 2W W 2% R 1@ iR i i Qe o F Frewd F e f9 e T s ¥ @ Sm o
wY He G ? .
it 2% = A fa <7 & o s W S R WO FR T e §
ferelt e o1 A i 37 F fog snavas 7o a1 36 WK % o e frw §)
fensft e =i = i 37 F for stavEs w91 SO WK ¥ o9 oTUR T @ w5
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To establish relationship between the weight of a block and the force required to make it just
move, a student first measured the force required for a block of weight W to move. He then
repeated the experiment after placing a weight W/2 and then 2W on the block. Which of
the following statements is likely to agree with the conclusion of the student ?

ag The force required by a block to just move does not depend on its weight.

b

f/) The ratio of force required for making the block just move and its weight is less than one.

The ratio of force required for making the block just move and its weight is a constant.

(d) The ratio of force required for making the block just move and its weight is more than
one.

34 fr 3 ¥R @Al A9 A, B, C A D H uiF # Sl YRR, HE w1 TeAfHd, ©H
R au fFewd TEel g W wWeated W 9t SR % 9% SEAiodl & 9eEH
arcfas faerad, ferem au wiaEs faaad & ®9 °§ Sy

Rima took fine chalk powder, egg albumin, starch powder and alum powder in four test tubes
A, B, C and D respectively. After adding water to all the four test tubes, identify the test tubes
as true solution, suspension and colloid.

35 S 1 FAYAE PR H@ THY gaiHe ¥ aew B 9 F US § TN 3-4 com FR @A
aifew? H&q § sare i |

Why should the bulb of the thermometer be kept about 3-4 cm above the surface of water while
determining the boiling point of water? Explain briefly.

36 fd'kfe'k }kjk vo'kksfkr ty dh izfr'krrk Kkr djus ds izksx esa ,d Nk= us
fuEufyflkr izs{k.k fidkMZ fd,&

chdj esa fy, ty dk nzO;eku =50g
ty lks[kus Is igys fd'kfe'k dk nzO;eku =20¢g
ty Iks[kus & i'pkr fd'kfe'k dk nzO;eku =30g
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iz;ksx ds Ik'pkr chdj es cps ty dk nzO;eku = 40¢
' fd'kfe'k }kjk vo'kksfkr ty dh izfr'krrk dk ifidyu dhft,A

A student recorded the following observations in an experiment for finding the percentage of
water absorbed by raisins:

Mass of water taken in beaker =50 g

Mass of dry raisins before soaking water = 20 g

Mass of raisins after soaking water =30 g

Mass of remaining water in beaker after experiment = 40 g

Calculate the percentage of water absorbed by raisins.
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